AR #HERBRUVANY I7OZEA (MmBHRI)

FETE FIB (PIERL) IS, —He/Ro THOES, (18 1 ROAY VOFERIELL S, BTS20, TR FE0, ) jﬁugﬂzzﬁmny@zmgnggﬁ@gg A
(R TR DR HLHGELTENET, FHMIIA— I — W TSIV, BERDSTGE BRFEREOTETT, ) l O BIRE TS L (/.9, ':1*9/51/7\
(20195 6B) #E—BEX S®EFA 209 % 6 A 1 H EHREGHHES 305

TEL: 026—-256—-9677
¥ ARSI, BAVERBH LG G THRfEA— VI, info@tke—g.jp ETITHAELIIZEN, (20194 6H] <~—v 1> FAX: 026-256-9688

F55H " e | sma i KEOFERA/ ) W 747 —PERE(MAX) . o

o |27 A, fii Al -1 B O i A B 588, O ONEIHEREERLTOET,
28 | ZHEWE [PHe—Saki—BT R fife 2% )L | 420r50 | 4&1&3&15 |D]| 319.6 | 49.9 80.0% 2 280 [[~] <% >3R=79.0%- 10R=1.0%

()1-28) MTC Q55)) @| 312.0 | 48.7 " 3 420 <GE > 3R=20.0%(HF4E -1 42[A])
@ FFE = LT O AL KEF2—HEK=10|O®]| 299.2 | 46.7 6 840 |[EBF2—]<HeZ>2R=20.0% 3R=21.0%- 6R=22.0%+ 10R=17.0%
@ [ RiEZ | =72 @IREH) =bHY @\ 287.4 | 44.9 10 | 1,400 < >3R=9.0% - 6R=8.0%+ 10R=3.0%(IH# 45 - 24150 [A])
@ 3fHAE)—] @IET ~—HEH k] ®| 275.3 | 43.0
O /140 R =72l | ®| 2491 | 389
1%y [PHB AR5 M3—K VHEST | sTH 20010 4&1&1 219.9 | 117.0 |  #50.0% L0 4 400 |[~Y]  <HfeZs>4R=50.0%(F°2000E])
@ = 4T HAEAR) T 100[H] &3&11 #£100.0% 10 | 1,000 <GE > 4R=50.0%(FE4E 100/H])
@ [ERFZE | =72 @TRETH =HY KEFa—EEk=1 (ST=200) [ F2— ] <HEZ5>4R=50.0%(K200[E]) - 10R=50.0%(#4°2001=])
@8 AE)—) @IET =— e k]
oy k=il |
BREZE [PALFFTYAT N YF UIvME | v 80lal| 4&1&3&7 D] 1298 | 17.9 82.0% 3 144 [[~Y]  <HfEZ5>3R=82.0%
KEF2—HER=1E|@| 127.3 | 17.6 | Uyh5la) 8 6 288 Gl > 3R=18.0%(FF4E80[a])
@ =T B AR @] 124.8 | 17.3 9 432 |[EFa—] <HEZ>3R=48.0%6R=17.0% 9R=17.0%
@ [EIRFEZE | =72 @TRET =Y @[ 119.8 | 16.6 <G> 3R=18.0%(HE80[E])
@8t —| @IEF =—HELilk ®| 116.8 | 16.2 U MR LR8O ]
@ [/)N4Y) e =%31/923 (~Y) H| 99.9 | 13.8
EXF1 |CRE.~/0A7m 5473 Vietezs | 7 100[0]| 4&15&4&1 199.8 | 102.1 17.5% 2 240 |[~Y]  <eZ5>2R=4.3% 16R=2.9% RUB16R=0.3%
bR &5&T7&13 #£65.0% 10 16 [1,920 GEH > 2R=92.5% (R 100[A])
@ =TT B AR HAYNEARL—E Bk = 15F RUBI6 | 1,715 SAYNERIT B H RFEE R iy & te
@ IREL =72l @IREE =5V KEF2E IR =48, BF =2 —HIK=1ME MRUBIEZZ1ME |[EFa—] HEZ>2R=12.0%- 16R=45.0%
@I3HAE)—| @IETF =—EFEIHL] T 75 >RUB16R=8.0%
@ /YY) | FEE =71 G > 2R=35.0%(FFE 100[8])
SANKYO [P F. /A AP —F sY Vietezs | 7 50| 4&1&4&10 |D] 129.8 | 104.0 | #]12.0% 2 63 [[~Y] <HEZE>4R=2.0% 10R=10.0%
()1-28) MEFa—EHK=1M| | 126.3 | 101.3 | #k65.0% 10 4 360 B> 4R=88.0%(HH4E50[m])
@FrE =TT HAEAR) @] 123.0 | 98.6 10 900 [[EFa—]<HEZ>10R=65.0%
@ ERIEZ =72 @IRAH)) = @] 119.8 | 96.1 GEH O FER2R=35.0%(HF4E50[])
@I3HAE)— | @IETF —EFEIHL] ®| 113.8 | 91.1
O/ u =l | | ®| 899 | 721
9[




¥ PRI, BVERHDIEE . THRFEA— VI, info@tkcg.jp FTTEARLIZEN, [20194F 6] <~_—¥ 2>
55 H " o | e KU1/ ) |HeZs 7 5 71— HEREMAX) . o
N i AR PENTT|EEE| == i M0 35—, O OMEIFEREERLTOET,
16H | A= — [PTF P =y —F 22 IFE2fEIR | 7L | 3 | 4&1&2 319.6 | /%y 100.0% TES5 | 405 |[[~V] <> T6R=99.5%(F4H 1 [H]=50.0%- ¥k [A13£=49.5%)
ME | UM (1/4/®ED) | &5&3&10 371 | QwMED [ F9| TF6 | 486 <A T 10R=0.5%
@ E = LT O AR KEF2—EEK=1 329 | 729 [[#EF2—] <Hpii> T 3E5R=99.5% T~ 5EIR=0.5%
@B RiEZE =72 @IREF) | =bHY KAEV&TE/=3{8, T74yh—=1018HEk 410 T 10 | 810 Uy MREEIRFELO RIS IR B Sy +41mD>
@ 3fHAE)—) @IET =— W k]
@ /4D | FEE=1/3.71 (ET=—)
TATYYA |CRFEAG6 H1BZ2FA Wes T 500]| 4&2&1 315.0 | 100.0 51.0% T2 224 ([~ &FF1EF 2~ <HEZA> T2R=5.0%RUSH)
/NEORUSH &4&15&15 g T 10 | 1,120 e > F 10R=46.0%(RUSH)
@FFE =@ TS 1+ 4T H 1 A HAR XEIBEF o —HEk=2M 2 | 224 <G> T 10R=49.0%(H5 1 FEMF4E50[5])
O [ERIEE | =72 @IRED =5 sy =18 | | # 16 | 1,792 |[4%2] <HeZs> [RUSH] A 2R=46.0%+ 45 16R=5.0%
@ 3{HAEY— @I AEIEWL) A, F74yh—tkm=15MEEK GEH A7 2R=49. 0% 1 FE HFAE50(m])
@ /)20 sk = 1/1.87 (52) |
= B |PAi7HE V2B 2 T | AR | 4&2&4 A 100.0% T3 | 420 [[~V] <HpED> FEE3R=25.0%(HE 12[H])
(1/4/8/12E) | &5&3&]15 267.1 | 7.1 10 | F96 | 840 IR T HEB6R=T2.0%(IF4 1 [A1=71.0%+ 4[71=1.0%)
KEF 2—EK=2 T3£9 | 1,260 PR T 9Z9R=3. 0% A 12]1])
@R E = T O AR X EVA&E /=3{8, T74yh—=1508H Ik [FEF2—] <HphD> T 323R=38.0%(H54[H]=23.0%- 8[H]=13.0% 12[H]=2.0%)
@B RIEZE =72 @IREE) | =bHY RFELD T 926R=14.0%(FF4[1=8.0%- 8[r]=4.0%- 12[H]=2.0%)
O@BEHAE)— | @IET =—EILEIH k] <IRFAL> T F29R=48.0%(HF4E 1 2[5])
@ /4D HEsR=101/239.1(~) +1/4.9 (BT 2—) <V AED MET o — PR AEIC XD | WA e S X SRR 4]
PAELFE V1A 2 T | A | 4&2&4 A5 100.0% T3 | 300 [[~Y] <> T 5E3R=50.0%(HE12[a])
(1/4/8/12[8]) | &5&3&11 199.0 | 6.9 10 | T3 6| 600 <RI T FE6R=47. 0%(HF 4 1 []=46.0% - 4[F]=1.0%)
KEF2—E k=2 TF£9 | 900 <HRpEE> T 929R=3.0%(pAE 1211])
@R E = LT H AR X EVA&E/=3{8, T74yh—=11{8H Ik [FEF2—] <k T F23R=42.0%(H54[m]=28.0%- 8[H]=12.0% 12[A]=2.0%)
@B RIELE =72 @IREE) =5V RFEL T 926R=19.0%(FE4[1=9.5% - 8[m]=7.5% 12[R]=2.0%)
@IBEHAE)— ]| @IET =— LIk <IHFAL> T SE9R=39.0%(IHF4E 1 2[7])
@ /YD | FER=491/159.8(~) «1/5.3 (FEF2—) < HBIV NED KT o — R ALY | R A 52 4]
YI— [PFUONRTTvr50—3 /s 7L 20[]| 4&1&3 ®f 119.8 | 59.9 60.0% B+l | 54 |[~V] G2 12+ F2R=53.5%¢ -5+ F5R=6.5%
CA &5&10&10 |@| 115.0 | 57.5 2+1 270 <E > 12+ T 2R=40.0% (4 20 (A1)
@R E = LT H AR ¥ B, TTooh—-HE=10EE k| @ | 110.7 | 55.4 10 242 360 |[EF2—]<HeZ> F2+ F1R=14.3% 3+ F3R=10.7%
@ [ERikEA | =72 @IRZEE =HY @| 106.7 | 53.4 3+3 540 78> 5+ F5R=35.0%
@ISEHAE)—| @IET =—EIiHk] ®| 95.0 | 47.5 5+5 900 GEH ¥R 1+ 1R=40.0%(B#4E2015])
@ /4D e =7pL ®| 77.0 | 385
t [E |[PAZEHAH] AINK LFE2 TR | 1 o] 4&1&1 99.9 AR #50.0% | F6| T6 | 216 [[~/] <Epa> TF6R=50.0%(R54E 1[A])
(V1-2%) &41&3&T 1.63 | #100.0% | 10| F329 | 324 <> F6R=50.0%(RE0[E])
@ E = LT O AR KEF=—HERK=1 [EFa—] <Hit> T 3E9IR=100. 0% 45 1 [A])
@ [HREZ | =721 @IREH) =HY X EVAE /=3{8, TT74yh—=TfEE Kk MET o — B UEIC XD, RS XS+ La]
@ 5 AEY—(4+1)] @IET = —EIeH{k]
@ /)40 | FER=#91/68.6 (~/) - 1/1.65 (FEF2—)




¥ ARSI, BRVERB LG G THREA— VI, info@tke—g.jp ETITHAELIIZEN, [20194E 6H] <~<— 3>
55 H " R Y i KU1/ ) |HeZs 7491 —PERE(MAX) . o
N B4 il Al I B O E el e B %85, O OPNIRIEREEELTOET,
160 | K—BEE [PREOHATT4T KS | ZHIST | STH 70| 4&1&3 Of 99.3 | 99.1 70.0% F22 | 180 |[~V]  <eZs>322R=20.0%F & 70[E]) - 4R=50.0%( 4 70[=])
TH 1 70[5] &5&10 @] 929 | 92.8 (ST=70) 10 3 270 Gl >4R=30. 0% 70[A])
@ E = LT O AR NKEFa—HEK=1M|®| 87.3 | 87.3 4 360 |[EBF=—] <HeZs>3R=20.0%(F % 70[A]) - 10R=50.0%(4 % 70[H])
@B RiEZE =72 @IREF) | =bHY @| 824 | 823 10 900 GEH > 3R=30.0%(FF4E70[])
@ 3fHAE)—) @IET =— W k] ®| 78.0 | 77.9
@ /4D =731 ®| 72.8 72.7
/| |PVE GLC VHEST | STE 80la]| 4&1&3&13 (D] 89.9 [ 28.3 #10.0% 0 3 360 [[~Y] <@ >3R=100.0%(FF4E40[E])
(V247) 1 40[A] @ 88.7 | 27.9 | #k100.0% 9 1,080 | [ F=—]<He 2 >3R=95.0%(H 4 80[A])
()21-28) | @K =4+TH kR KEF2—HEK=1@|®| 87.5 | 27.5 (ST=20) <75 >9R=5.0%CFH80[H])
@ ERiEZ =72 @IREF) =5V @] 86.2 | 27.1
@ 3{HAEY— @I AEIEWL) ®| 83.0 | 26.1
oy k=il | ® 799 | 251
23H |¥vt{R&D (PR E RPY VHEST | ST 100[3]| 4&1&3 111.3 | 11.5 #10.0% 1+1 180 [[~] <@#> b1+ F1R=100.0%(F4E60[H])
()1-28) | @FKrE =TH4TH R 1 1A 60 &10&10 #E100.0% 10 242 360 |[EF—)<Hezs> [$4°100[E]] 1+ F1R=39.0% 2+ F2R=39.0%
@ B IRFEZ | =721 @IRAEH =Y KEF2—HEk=1# (ST=10) 3+3 540 <HeZs> [44°100[E] ] 13+ F3R=5.0% L5+ F5R=17.0%
@IBEHAE)— | @IETF =—EIEIHL] BV, Froyr—3im=10EEEk 5+5 900
Oy =L | | | | |
30H




